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SE(E-AL%) 20 5,000 100,000
SE(E-F2%) 30 5,000 150,000
SE (B EN) 10 10,000 100,000
SEEH-AN) 30 3,000 90,000
INET 440,000
BEE- A EERRIEEX
RienfEE 0 0 0
Fe AL EES 1 300,000 300,000
ARVNEBE 1 50,000 50,000
IRTAVNEE 5 10,000 50,000
TEHES 5 50,000 250,000
HFitE 10 3,000 30,000
RERE -HEFIH 1 750,000 750,000
ISR ITFoTA4VY 0 0 0
Zhfth BiskE 1 1,250,000 1,250,000
INET 2,680,000
WIS = FAIROAVEE
ARVNEBE 2 50,000 100,000
IRTAVNEE 2 10,000 20,000
TEHES 5 50,000 250,000
HFitE 10 3,000 30,000
ISR ITFoT40Y 0 0 0
Zhfth BifkiE 1 500,000 500,000
INET 900,000
AR—YOSTIRC AV ER
ARVNEE 2 50,000 100,000
IRTAVNEE 3 10,000 30,000
TEHES 5 50,000 250,000
HFitE 10 3,000 30,000
ISR ITFoTA4VY 0 0 0
Zhfth BifkiE 0 0 0
INET 410,000
IRAEE 4,430,000
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BREE AHBRFIEER
Ry BEE
T BEER 30,000
RorERE & 50,000
EHELEREDE 30,000 110,000
TIEMEE
HHEEEE
REBAR 100,000
BREAL 50,000
ABE 240,000
BILBERZDE 50,000 440,000
BRRERESEIE
Mk BRRS R DR 50,000
BERLINE 50,000
BARBEETHE 50,000
SIEEBEE=AREES 2,000,000 2,150,000
2,700,000
WIEOS1 =TT R AVFER
FECXESE
ZR—U IO S LEDE 100,000
SazFRRIATIor 100,000
J—RH— LK EE 150,000
BERERFEIXEE (RERH) 150,000
BEY—ERAXEE (ERAMEY—ER) 200,000
ERREXIES (CEHRE) 10,000
REBEERIER 100,000
YR BEIER IR 10,000
A2 =FARI—ILEDTREERE 10,000
BR BEREDE (b3 — 20,000
DB EHRLE) ’ 860,000
REEEXRE
REBEXE 30,000
NETF IR 20,000
B EREYE ((RUhIF—
DR EEHE) 10,000 5 000
g2 =T XIE
ASa=TF4I—h—XIEE 10,000
Brse - S IE 100,000
R TATRAVNKIER 50,000
Hy—vorTOS ok 100,000
BR BEREDE (b3 — 20,000
DB EHRLE) ’ 290,000
1,210,000
AR—YOSTIROAVIEE
BEEMESCX IR
BETRESCRER 10,000 10,000
AR—YH5TXIE
DS IRATANKIER 10,000
B ISEA & DI B IE (B RL - BN
HEBETIES 10,000
(D5IRIFUT ALY - T7UR)
MR B IEXIE 10,000
B EREYE ((RUh2IF— 10,000
DB EHRLE) 40,000
EALNERR—YZIE
BAVETvI— DX ER 20,000
EANERR—YDXIEE 20,000
(BEEEHERAR—VIEER)
B EREYE (b IF—
DR, EEHE) 30,000 2 000
120,000
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UNCES 0
BIELEE 0
ELEE 40,000
BEE 60,000
REXEE 50,000
EHEARE 60,000
FEEE 10,000
AT 5,000
FEREE 20,000
HERE 20,000
EEH 0
RAFHF 5,000
SERE 60,000
HRE 20,000
HE 50,000
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ZHEE 4,430,000
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4,430,000 4,430,000 0




